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Exercise 27

Table 4 gives the population of a town (in thousands) from 2000 to 2008. What was the average
rate of change of population (a) between 2002 and 2004, and (b) between 2002 and 2006?

Solution

The average rate of change of population between 2002 and 2004 is

f(2004)− f(2002)

2004− 2002
=

77 000− 83 000

2004− 2002

=
−6000

2

= −3000,

and the average rate of change of population between 2002 and 2006 is

f(2006)− f(2002)

2006− 2002
=

78 000− 83 000

2006− 2002

=
−5000

4

= −1250.
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